
Problem Set #1 
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CuLi
2

Li CuI + LiI2

CuLi
2

You need the bond between the
alkyl group and the Copper

These parentheses
need to be around the
whole alkyl group

CuLi
2

= CuLi

This is actually what the parentheses mean.

CuLi
2

Li CuI + LiI2

OH SO2CH3MeSO2Cl

OSO2Cl OCH3SO2

OSO2CH3

This is missing an
oxygen!

This is showing
incorrect connectivity

The chlorine is what
gets substituted, not 
the methyl!

This is also showing
wrong connectivity

OSO2CH3

This is ambiguous,
depending on where
you place the hydrogen
can dictate the stereochemistry
of this molecule. (the implied
hydrogen could be at any of the
positions of the arrows.
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This is what the abbreviated forms represent!

OH OSO2CH3MeSO2Cl
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OH H2CrO4
O

This is drawn without regard
to the sp2 hybridization
(trigonal planar) geometry

OH H2CrO4
O

Cl2
Cl

Cl
Cl

Cl

This is missing stereochemistry

Depending on which group has
the dashed line, the stereochemistry
will change, so you need BOTH a
wedge and a dash about this chiral
carbon

Cl2
Cl

Cl

Cl

ClRacemic


